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QUESTION 1

What are two functions of the PFE? (Choose two.) 

A. to maintain the forwarding tables 

B. to apply the class of service function 

C. to forward transit traffic 

D. to monitor the chassis 

Correct Answer: BC 

 

QUESTION 2

Click the Exhibit button. 

Which operational mode command in Junos OS produces the output shown in the exhibit? 

A. show system users 

B. show system connections 

C. show system commit 

D. show system reboot 

Correct Answer: C 

 

QUESTION 3
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Which parameter must be included when executing operational mode commands from within configuration mode? 

A. run 

B. prompt 

C. insert 

D. do 

Correct Answer: A 

 

QUESTION 4

Your firewall filters are not in the correct order, what would solve this problem? 

A. Use the next-term action to force an evaluation of the next-term 

B. Use the commit parameter to ensure that terms are evaluated correctly 

C. Use the reject action to change the action of the filter 

D. Use the filter command to reorder the terms with the filter 

Correct Answer: D 

 

QUESTION 5

Click the Exhibit Button. 

You are asked to limit traffic on interface xe-0/0/3 to 1G using the police shown in the exhibit. Which configuration would
accomplish this task? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 
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